
 

AMT-300 M?5>FD>==O= <7<5D<F5?L pH, 6?46=>EF<, 
F5<?5D4FGDO < >E65M5==>EF< ?>G6O 

AMT-300 ?>4E>4<F 4?O <7<5D5=<O 4-E 646=OE ?4D4<5FD>6 ?>G6O ?D< 6OD4M<64=<< D4EF5=<= 6 

4><4L=<E < E44>6OE GE?>6<OE - GD>6=O ><E?>F=>EF< pH, 6?46=>EF<, F5<?5D4FGDO < >E65M5==>EF<, 

&5EF5D >E=4M5= M?5>FD>4>< 4?<=>= 200 <<, >DG?=O< LCD 4<E??55< E DG=>F<5= ?>4E65F><. 

� GEFD>=EF65 F4>65 <<55FEO <=4<>4F<O =<7>>7> 74DO44 54F4D55> < DG=>F<O 46F><4F<G5E>>7> 

>F>?NG5=<O. &5EF5D ?57>> ?5D5=>E<FL < ?D>6>4<FL <7<5D5=<O ?>G6O. �E5 <7<5D5=<O 6O?>?=ONFEO 

?57>>, 5OEFD> < E 6OE>>>= F>G=>EFLN. &5EF5D EF4=5F =4456=O< ?><>M=<>>< 4?O E44>6>4>6, 

>7>D>4=<>>6, ?D>D5EE<>=4?>6 < ?N5<F5?5=. 

���%���� &�%&�$� 

 

A. �=>?>4 "PH/TEMP= - ?5D5>?NG4F5?L D56<<4: GEF4=46?<645F D56<< <7<5D5=<O 7=4G5=<O PH, 

F5<?5D4FGDO <?< 6?46=>EF<. 

B. �=>?>4 "ON= 3 6>?NG5=<5 F5EF5D4. 

C. -?5>FD>4 20 E< - 4?O <7<5D5=<O GD>6=O PH, 6?46=>EF< < F5<?5D4FGDO. 

D. $>F>M?5<5=F - 4?O <7<5D5=<O <=F5=E<6=>EF< E>?=5G=>7> E65F4. 

E. LCD 4<E??5= E ?>4E65F>>=. 



F. �=>?>4 <°C/°F OFF= - ?5D5>?NG4F5?L 54<=<F <7<5D5=<O F5<?5D4FGDO < 6O>?NG4F5?L F5EF5D4. � 

D56<<5 <7<5D5=<O F5<?5D4FGDO =46<<F5 >=>?>G 4?O 6O5>D4 54<=<F <7<5D5=<O °C <?< °F (?> 

G<>?G4=<N F5<?5D4FGD4 <7<5DO5FEO 6 °C). �?O 6O>?NG5=<O F5EF5D =46<<F5 >=>?>G < G45D6<64=F5 55 

5>?55 3 E5>G=4. 

G. �4M<F=O= >>??4G>> (?>EF46?O5FEO 4>?>?=<F5?L=>) 3 ?5D54 ?D>6545=<5< <7<5D5=<= E=<<<F5 < 

74>D>=F5 << M?5>FD>4 ?>E?5 ?D>6545=<O <7<5D5=<= 4?O E>ED4==>EF<. 

LCD ��%���� 

 

A. �5?4EFL >F>5D465=<O <=F5=E<6=>EF< E>?=5G=>7> E65F4 - 9 7D444F<=: LOW-, LOW, LOW+, NOR-, 

NOR, NOR+, HGH-, HGH, HGH+. �4644O <7 =<E E>>F65FEF6G5F 6E5 5>?LL5<G >>?<G5EF6G E65F4, F.5. 

>4G5EF6G >E65M5=<O. LOW- >5>7=4G45F <E>?NG<F5?L=> E>G4=>5 < FGE>?>5 >E65M5=<5. HGH+ 

E>>F65FEF6G5F >G5=L OD>><G >E65M5=<N. 

B. �F>5D465=<5 GD>6=O PH 

C. �F>5D465=<5 GD>6=O PH <?< F5<?5D4FGDO - >F>5D465=<5 >F 3,5 4> 9,0 4?O 7=4G5=<= PH < >F -9°C 4> 

+50°C 4?O F5<?5D4FGDO. %<<6>?O "Lo" (=<65) <?< "HH" (6OL5) >7=4G4NF, GF> 7=4G5=<O D57G?LF4F>6 

<7<5D5=<= 6OE>4OF 74 7D4=<FG 4<4?47>=4 F5EF5D4. 

D. �F>5D465=<O 6?46=>EF< - 5 7D444F<=: DRY+, DRY, NOR, WET, WET+ (EGE> - =>D<4?L=> - 6?46=>), 6 

?>DO4>5 G65?<G5=<O 6?46=>EF<. WET+ >7=4G45F >G5=L 6OE>>GN 6?46=>EFL, 4 DRY+ >G5=L EGEGN ED54G. 

E. �F>5D465=<5 7=4G5=<O F5<?5D4FGDO. 

F. �=4<>4F>D 74DO4>< 54F4D5< - ?>O6?O5FEO =4 4<E??55 5E?< 54F4D5O D47DO65=4. 

��$�� �$��������� 

�5D54 ?D>6545=<5< <7<5D5=<= GEF4=>6<F5 54F4D5=>G 9V F<? �D>=4. 



'%&������ ��&�$�� 

�F>D>=F5 54F4D5==O= >FE5> =4 744=5= G4EF< >>D?GE4 F5EF5D4 GEFD>=EF64 < GEF4=>6<F5 1 54F4D5=>G 9V 

F<? �D>=4 > D47N5<G ?<F4=<O. �4>D>=F5 54F4D5==O= >FE5>. 

$'�����%&�� �� -�%��'�&�&�� 

1. ����$���� %����'��� �%��-����%&� 

a. �>?NG<F5 F5EF5D =464F<5< =4 >=>?>G "ON". 

b. $4765D=<F5 D>F>M?5<5=F (E65F>6>= 44FG<>), GF>5O 6 =57> ?>?444?> <4>E<<4?L=>5 E>?=5G=>5 

>E65M5=<5. 

c. �4 4<E??55 >F>5D47<FEO <=F5=E<6=>EFL >E65M5=<O 6 44==O= <><5=F. 

%>65FO: %?54<F5, GF>5O ?D< <7<5D5=<< =<GF> =5 747>D46<64?> D>F>M?5<5=F, < =5 ?444?4 F5=L. 

2. ����$���� '$���/ PH (��%��&��%&�) ��'�/ 

a. 'EF4=>6<F5 ?5D5>?NG4F5?L "PH/TEMP" =4 744=5= G4EF< >>D?GE4 F5EF5D4 6 ?>?>65=<5 "PH". 

b. �>7DG7<F5 M?5>FD>4 65DF<>4?L=> 6 ?>G6G =5 E?<L>>< 5?<7>> >F EF55?5= D4EF5=<=, GF>5O =5 

?>6D54<FL <E >>D=<. 

c. �>?NG<F5 F5EF5D =464F<5< =4 >=>?>G "ON". 

d. �4 4<E??55 >F>5D4645FEO 7=4G5=<5 PH. 

e. �D>654<F5 <7<5D5=<O =5E>>?L>> D47, GF>5O G554<FLEO 6 <E ?D46<?L=>EF<. 

%>65FO: 

1. �>7DG64FL M?5>FD>4 =G6=> EFD>7> 65DF<>4?L=>, 46<65=<O<< 665DE-6=<7, ?D<<5D=> ?>E5D54<=5 

<564G EF55?5< D4EF5=<O < >D45< 7>DL>4. �?O 7>DL>>6 4<4<5FD>< 5>?55 30 E< MF> ?>?>65=<5 

E>>F65FEF6G5F 1/3 D4EEF>O=<O >F EF55?O 4> >D4O 7>DL>4. �?O 7?G5>><E 7>DL>>6 =G6=> ?>7DG64FL 

M?5>FD>4 7?G5>>>, =4F5?<64OEL =4 GG4EF><, 745 D4E?>?>65=O E4<O5 <>M=O5 >>D=<. 

2. �>7DG64FL M?5>FD>4 E?54G5F >EF>D>6=>, GF>5O =5 ?>6D54<FL 57>. 

3. �E?< <EE?54G5<4O ?>G64 E?<L>>< EGE4O <?< E?<L>>< 6<D=4O < G =55 =5 ?>?GG45FEO <7<5D<FL 

7=4G5=<5 PH, E?54G5F E<>G<FL 55 6>4>=. '5D57 ?>?G4E4 <7<5D5=<5 <>6=> ?D>65EF< ?>6F>D=>. 

3. ����$���� ������%&� 

a. 'EF4=>6<F5 ?5D5>?NG4F5?L "PH/TEMP" =4 744=5= G4EF< >>D?GE4 F5EF5D4 6 ?>?>65=<5 "TEMP". 

b. �>7DG7<F5 M?5>FD>4 65DF<>4?L=> 6 ?>G6G =5 E?<L>>< 5?<7>> >F EF55?5= D4EF5=<=, GF>5O =5 

?>6D54<FL <E >>D=<. 

c. �>?NG<F5 F5EF5D =464F<5< =4 >=>?>G "ON". 

d. �4 4<E??55 >F>5D4645FEO 7=4G5=<5 6?46=>EF< <EE?54G5<>= ?>G6O. 



e. �D>654<F5 <7<5D5=<O =5E>>?L>> D47, GF>5O G554<FLEO 6 <E ?D46<?L=>EF<. 

%>65FO: 

1. �>7DG64FL M?5>FD>4 =G6=> EFD>7> 65DF<>4?L=>, 46<65=<O<< 665DE-6=<7, ?D<<5D=> ?>E5D54<=5 

<564G EF55?5< D4EF5=<O < >D45< 7>DL>4. �?O 7>DL>>6 4<4<5FD>< 5>?55 30 E< MF> ?>?>65=<5 

E>>F65FEF6G5F 1/3 D4EEF>O=<O >F EF55?O 4> >D4O 7>DL>4. �?O 7?G5>><E 7>DL>>6 =G6=> ?>7DG64FL 

M?5>FD>4 7?G5>>>, =4F5?<64OEL =4 GG4EF><, 745 D4E?>?>65=O E4<O5 <>M=O5 >>D=<. 

2. �>7DG64FL M?5>FD>4 E?54G5F >EF>D>6=>, GF>5O =5 ?>6D54<FL 57>. 

4. ����$���� &����$�&'$/ ��'�/ 

a. �D< <7<5D5=<< 6?46=>EF< >4=>6D5<5==> =4 4<E??55 >F>5D4645FEO < 7=4G5=<5 F5<?5D4FGDO ?>G6O. 

b. �?O ?5D5>?NG5=<O <564G 54<=<F4<< <7<5D5=<O F5<?5D4FGDO (7D44GEO &5?LE<O <?< $4D5=75=F4) 

=G6=> =464FL >=>?>G "°C/°F OFF". 

%>65F: �E?< M?5>FD>4 =5 ?>7DG65= 6 ?>G6G, F> ?D<5>D ?>>47O645F F5<?5D4FGDG >>DG64NM57> 6>74GE4. 

��&�$�$�&�&�/ ���'���� ��&��%����%&� %����'���� %��&� 

�E?< =4 D4EF5=<O ?>?4445F 4>EF4F>G=> E65F4, F> >=< ?GGL5 D4EFGF. (�5>>F>DO< D4EF5=<O< E65F4 =G6=> 

5>?LL5, 4DG7<< - <5=LL5). &5EF5D <7<5DO5F >E65M5==>EFL < >F>5D4645F 55 <=F5=E<6=>EFL, GF> 

?>76>?O5F ?>=<<4FL, >4><5 GE?>6<O ?GGL5 ?>4E>4OF 4?O D>EF4 D4EF5=<=.  

==>� ?>DO4>5 G65?<G5=<O >E65M5==>EF< 

LO

W- 

LOW LOW+ NOR- NOR NOR+ HGH- HGH HGH+ 

>G5=L =<7>4O 4>6>?L=> =<7>4O =>D<4?L=4O 4>6>?L=> 6OE>>4O >G5=L 6OE>>4O 

��&�$�$�&�&�/ ���'���� '$���/ PH ��'�/ 

�7?<L=OO ><E?>F=>EFL <?< M5?>G=>EFL ?>G6O <>65F EF4FL 646=O< D4>F>D><, <5L4NM<< 

=>D<4?L=><G D>EFG < D476<F<N D4EF5=<=. �>?LL<=EF6> D4EF5=<= =5 <>7GF D4EF< 6 E?<L>>< ><E?OE <?< 

E?<L>>< M5?>G=OE ?>G64E. �7<5DOO 7=4G5=<O PH ?>G6O, <>6=> ?>4>5D4FL D4EF5=<O, 

E>>F65FEF6GNM<5 MF><G ?>>474F5?N ><E?>F=>EF<. �?< =4>5>D>F, 5>?55 F>G=>, MDD5>F<6=> < 

M>>=><<G=> <7<5=<FL PH. 

PH = 7 MF> ?>>474F5?L =>D<4?L=>= ?>G6O 

PH < 7 - ><E?O5 ?>G6O 

PH >7 - M5?>G=O5 ?>G6O 

�<65 ?5D5G<E?5=O 6>7<>6=O5 7=4G5=<O PH 4?O ?>G6O. 

�=5 4<4?47>=4 <7<5D5=<=�=5 4<4?47>=4 <7<5D5=<= 

<=='65?<G5=<5 ><E?>F=>EF< �5=F-
D4?L=4O 

'65?<G5=<5 M5?>G=>EF<==> 

Lo 3,5 4,0 4,5 5,0 5,5 6,0 6,5 7,0 7,5 8,0 8,5 9,0 HH 



$4EE<>FD<< MF>F ?5D5G5=L PH ?>4D>5=5=. �E?< ?>>474F5?L PH =<65, G5< 4>?GEF<<O= 4?O 64L57> 6<44 

D4EF5=<=, <>6=> 4>546<FL <765EF<, GF>5O G65?<G<FL PH. �E?< 65 ?>>474F5?L PH 6OL5, G5< 

D5>><5=4G5<O= 4?O 64L<E D4EF5=<=, <>6=> 4>546<FL G4>5D5=<= < >D74=<>< 4?O E=<65=<O PH. 

%>65F: '65?<G5=<5 <?< ?>=<65=<5 PH =5 FD55G5F =4GG=>= F>G=>EF<, ?>E>>?L>G 5>?LL<=EF6> D4EF5=<= 

<<55F 4>6>?L=> L<D>><= 4<4?47>= ?D<5<?5<OE 7=4G5=<= PH. �>?LL<=EF6> D4EF5=<= 6?>?=5 E?>>>==> 

?5D5=>EOF 7=4G5=<O PH >>>?> 6,5, E>FO =5>>F>DO5 ?D54?>G<F4NF 5>?55 ><E?O5 <?< 5>?55 M5?>G=O5 

?>G6O. 

������%&, ��'�/ 

�?46=>EFL ?>G6O E?>E>5EF6G5F E>D>L5<G D>EFG D4EF5=<=. 'EFD>=EF6> D47?<G45F 5 7D444F<= 6?46=>EF< 

?>G6O, GF> ?>76>?O5F ?>=<<4FL, >4><5 GE?>6<O ?GGL5 ?>4E>4OF 4?O D>EF4 D4EF5=<=. 

'65?<G5=<5 6?46=>EF<==> 

DRY+ DRY NOR WET WET+ 

>G5=L EGE4O EGE4O =>D<4?L=4O 6?46=4O >G5=L 6?46=4O 

�E?< ?>>474=<O F5EF5D4 =<65, G5< G>474=> 6 F45?<F5 (Lo), ?>D4 74=OFLEO ?>?<6><. �E?< ?>>474=<O 

?D<5>D4 6OL5, G5< G>474=> 6 F45?<F5 (HH), F> =5 =G6=> ?>?<64FL D4EF5=<O. 

�4?5=L><5 7>DL>< =G6=> ?D>65DOFL G4M5, G5< 5>?LL<5 - >=< 5OEFD55 E>E=GF. �5 =G6=> ?>?<64FL 

D4EF5=<O E?<L>>< G4EF>, >F MF>7> >>D=< <>7GF 747=<FL. �=5 E57>=4 5>?LL<=EF6> D4EF5=<= ?GGL5 

?>?<64FL =5 G4M5 D474 6 =545?N. 

%���&/ �� $���&� �$���$� 

÷ &5EF5D 46F><4F<G5E>< >F>?NG45FEO G5D57 5 <<=GF =54>F<6=>EF<. 

÷ &5EF5D ?D54=47=4G5= F>?L>> 4?O <7<5D5=<O ?>>474F5?5= ?>G6O. �5 =G6=> ?>7DG64FL ?D<5>D 6 

6>4G < 4DG7<5 6<4>>EF<. 

÷ �5 >EF46?O=F5 M?5>FD>4 6 ?>G65 4>?LL5, G5< =G6=>, MF> ?D<6>4<F > 57> ?>DG5. 

÷ �5 E7<54=F5 M?5>FD>4. 

÷ �5 <E?>?L7G=F5 M?5>FD>4, GF>5O D475<64FL >><>< 75<?<. 

÷ �5 ?>7DG64=F5 M?5>FD>4 65?<7< >F <5F4??<G5E><E ?D54<5F>6. 

÷ &M4F5?L=> >G<M4=F5 M?5>FD>4 < 6OF<D4=F5 57> =4EGE> ?5D54 >464O< <7<5D5=<5< < ?>E?5. 

÷ �5D54 <7<5D5=<5< =G6=> >G<EF<FL M?5>FD>4 >F >><E?>6 4> 5?5E>4 10-12 E< 57> 4?<=O, 

>>F>DO5 <>7?< >5D47>64FLEO =4 <5F4??<G5E>>= ?>65DE=>EF<. 

÷ '554<F5EL 6 F><, GF> FM4F5?L=> ?D>F5D?< 57> < =445?< 74M<F=O= >>??4G>> ?D5645, G5< 

?>?>6<FL F5EF5D =4 ED4=5=<5 4?O ?D54>F6D4M5=<O >><E?5=<O M?5>FD>44. 

÷ �D< 6OF4E><64=<< M?5>FD>44 <7 ?>G6O =5 FD>74=F5 M?5>FD>44 ?4?LF4<<. 

���%� � '%&$������ ���%�$����%&��: 

A. �4 4<E??55 ?>O6<?EO 7=4G>> D47DO65==>= 54F4D5< - 74<5=<F5 54F4D5N =4 =>6GN. 

B. "�=5 4<4?47>=4 <7<5D5=<=" >F=>E<FEO > 7=4G5=<O< PH 74 7D4=<F4<< 4<4?47>=4 >F 3,5 4> 9,0 < 

F5<?5D4FGD =<65 -9°C < 6OL5 +50°C. 

C. �E?< ?D< ?>7DG65=<< M?5>FD>44 6 ?>G6G >= =4F>=G?EO =4 >4<=< <?< >D74=<G5E><5 65M5EF64, E?54G5F 

6OF4M<FL 57>, ?D>F5D5FL < ?>?D>5>64FL ?>7DG7<FL E=>64 6 4DG7>< <5EF5. 

D. �>E?5 ?D>F<D4=<O M?5>FD>44 =4 57> <5F4??<G5E>>= ?>65DE=>EF< >5D47>64?<EL >EF4F>< 4DG7>7> 

<5F4??4. 



E. �7<5D5=<5 ?D>6545=> E?<L>>< 5?<7>> > >D4N <?< 4=G 7>DL>4. 

F. �5 >G<M5= M?5>FD>4 ?5D54 ?D>6545=<5< <7<5D5=<O. 

G. �>G64 E?<L>>< EGE4O. 

H. �>G64 6>>DG7 M?5>FD>44 =5D>6=4O. 

I. �7<5D5=<5 6 ?>G65 ?D>6>4<FEO E?<L>>< D4=> ?>E?5 ?5D5E46<64=<O. 

J . �>>?> M?5>FD>44 =4E>4<FEO G4>5D5=<5 4?O >><=4F=OE D4EF5=<= <?< EF5D65=L >F F45?<G><. 

K. -?5>FD>4 ?>6D5645=. 

�$���%&�$������ 

÷ �5D4M4FLEO E F5EF5D>< =G6=> >EF>D>6=>, =5 4>?GE>4O ?445=<= < G44D>6. 

÷ �5 D475<D4=F5 F5EF5D, GF>5O =5 E?><4FL 57>. 

÷ �5 >?44<F5 F5EF5D DO4>< E E44>6O<< <=EFDG<5=F4<<. 

÷ �5D57<F5 F5EF5D >F ?O?< < 6>4O, F4> >4> >=< <>7GF ?>6D54<FL 57>. 

÷ �5 <E?>?L7G=F5 F5EF5D ?D< F5<?5D4FGD4E 6OL5 50°C. 

÷ �G<M4=F5 F5EF5D F>?L>> <O7>>= F>4=LN. 

÷ �D< 4?<F5?L=OE ?5D5DO64E 6 D45>F5 F5EF5D4 65?4F5?L=> <7NOFL 54F4D5=>G. 

&�%��'�%��� %�$��&�$�%&��� 

�4764=<5 �G?LF<<>=<F>D 4?O ?>G6O 4 6 1 

�>45?L AMT-300 

�7<5DO5<O5 ?4D4<5FDO ?>G6O �E65M5==>EFL, 6?46=>EFL, PH, 
F5<?5D4FGD4 

�D545?O <7<5D5=<= >E65M5=<5 

(9 GD>6=5=) 

LOW-, LOW, LOW+, 

NOR-, NOR, NOR+, 

HGH-, HGH, HGH+ 

6?46=>EFL 

(5 GD>6=5=) 

DRY+, DRY, NOR, 

WET, WET+ 

GD>65=L PH 

(12 GD>6=5=) 

3,5 - 9,0 (L47 0,5) 

F5<?5D4FGD4 >F -9°C 4> +50°C (L47 1°C) 

�EF>G=<> ?<F4=<O �4F4D5=>4 9V (1 LF.). &<? �D>=4.  

�6F><4F<G5E>>5 6O>?NG5=<5 �F>?NG45FEO 46F><4F<G5E>< ?D< 
=54>F<6=>EF< 5 <<=GF 

$G=>F<O ?>4E65F>< 4<E??5O �O>?NG45FEO 46F><4F<G5E>< G5D57 1 
<<=GFG 

$45>G4O F5<?5D4FGD4 >F +5°C 4> +40°C 

$47<5DO �>D?GE GEFD>=EF64 122 << x 63 << x 36 << 

-?5>FD>4 4<4<.5 << x 200 << 

�5E >>>?> 73 7 (557 54F4D5=><) 

 



��$��&�� 

&5EF5D AMT-300, ?D><76545= >><?4=<5= AMTAST. �4 ?D<5>D ?D54>EF46?O5FEO 74D4=F<O 12 
<5EOF56 E 44FO ?>>G?><. �4D4=F<O D4E?D>EFD4=O5FEO =4: �4?4E=O5 G4EF< < D45>FO, E6O74==O5 
E <E 74<5=>=. &D4=E?>DF=O5 D4EE>4O =4 ?5D5EO?>G 74D4=F<==>7> E?GG4O 6>76D4M4NFEO 
?>>G?4F5?N. �4D4=F<O =5 D4E?D>EFD4=O5FEO: &D4=E?>DF=O5 D4EE>4O =574D4=F<==OE E?GG456, 
<745?<O E <5E4=<G5E><<< ?>6D5645=<O<<, E> E?544<< ?>?OF>> =5>64?<D<F<D>64==>7> 
D5<>=F4, =4 E?GG4< ?>6D5645=<O 6E?54EF6<5 =5?D46<?L=>= M>E??G4F4F<<, ED4=5=<O < 
?5D56>7>< <?< ?D<<5=5=<O GEFD>=EF64 =5 ?> ?DO<><G =47=4G5=<N, =4 ?>6D5645=<O 6 E?GG4OE 
=5?D5>4>?<<>= E<?O, ?D< =5EG4EF=OE E?GG4OE, 4 F4>65 6 E?GG45 G<OL?5==OE <?< 
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